ADVANCED HIGHER MATHEMATICS

SYSTEMS OF LINEAR EQUATIONS 1

Use the method of Gaussian elimination to solve each set of linear equations for x, y

and z:
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x+y+z=10
2x + 3y +z=21
x+2y+4z=19

x+ty+2z=4
3x +4y+z=19
x+y+4z=6

x-y+z=9
x—y+z=17
2x +3y-z=23

x+2y-z=8
x+3y+2z=27
22x~2y+52=2

x+ty—-z=11
2x+3y+2z=16
X +2y+2:=4
x+tz=3
x+ty=10

2x +y+3z=11
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17.
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14.

17.

xty+tl2z=
3x+4y+:z=18
2x+3y+2z=15

x+2y+z=14
x+3y+3z=24
2x+3y+z=22

x+t2y+tz=4
2x+5y-3:=-9
dx~2y-z=21
Xx+2y-z=-7
2x+3y+z=6
x+4y+2z=7
x+y—-2z=8
Xx+2y+z=3
3x-2y+z=35
2x+y+2z=8
2x+2y+3z=11
dx+y+z=19
ANSWERS
=4, y=1:z=2
x=6,y=2z=4
x=5y=-2z=3
x=3,y=-2z=6
2 722_2

3. x+t2y+tz=12
2x + 5y + 4z =136
2x + 6y +3z2=33

6. xt+ty—z=1
2x+3y+:z=13
Xx+2y—-2z=0

12. x-3y+tz=9
2x~5y+3z=13
3x+2y—-2:=-12

15. x+y=35
x+2y+z=9

X—2z=-]

18. Xxty+tz=0
x+2y+z=5
x+y—z=7

3. x=3,y=2:=5

6. x=2y=2:=3

9, x=2y=0z=-1

12 x=-2 y=-4 z=_]

15. x=3,y=2z=2

18. x=1y=3z==2
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pm—=2C=A"L =X
p=27-=A"'-=x
C=z'1=A'7=x
0=2¢=AT-=x
[=2¢-=A"7—=x
So-=2'¢1=40=
0=21-=A‘ =x
C=C'7=A" =X
[=z'z—=4"¢c=x
7= ]=A}p=x
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Sl =2p + 47 — x¢
7T =27 — A¢ + x¢
€=2¢ 4+ A4 -7

9 =2¢ + A + x7—
L1-=24 47 —x¢
6l =z—Ap+x

v=z+dp+x
=24 dA7 +x7
pr=2¢+ A7+ x

=27 +A7 - X
6 =27 —A+x7
| =2 —A—x

0l =2 —dp - x¢
0l =2 +47 - xg
=27 A7 —x

§ =28 +x7
=2 4+47 4+ xp
=26 +4¢ 4 x
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Ll=2+4—xp
1-=2-dg 4
—=Z-A¢ 4 x

01 =2~ a49-x/
=27 -4+ x¢
9=z4+d7 —x
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LT=2€ + A7 —xp
L=2—d7 +xg
fl =27+ +xg
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Ol = 27 + A¢+ XT
12=2+4-x7

0=:7-+x
1T=z¢+4
01 =d-xz
01 =47 + x

pe = 2g - Ag— xg
91 =27 — Ag4 X
6—=2¢ A7 - X

9=24d7 +x¢

0=2z-d4-xg
=Z4+d7+X

Tl-=2¢ 7 +x

G e d 4 X¢
Ol =2T+X
[=z7-d7 —x

PT =2+ 4y - x¢
p=2+d4+x

L =77+ A7 + x¢
P=24 A7+ X¢
[=24+d4x

§=72+A7 4+ x¢
6=724 dF + a7
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6F = 27 — 4g+ XS
61 =2+ A4 ag
6 =27 AT X
T=2¢ + 4y + 7
6~ =2 d +x¢
[ =z4+d7 - x

TI =27 + X¢
S =274 {4 X~

p=z-d-x
L1- =294+ ap
0=2G 444X

=27 + A7 + Xg
=24 A6+ ¢
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p=2¢+ A4 x5

[—=2—A4¢ AT

p =27 -A4¢ X
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